2018 - 2020

www.elinits.com
Contact: 91271082

Primary 2
MATHS

No Schools List
1 ACS
2 ACS)
4 Catholic High
5 CHU
6 Henry Park
7 Maha Bodhi
8 Nan Chiau
9 Nan Hua
10 Nanyang
11 Pei Chun
12 Pei Hwa
13 Raffles Girl’s
14 Red Swastika
15 Rosyth
16 Rulang
17 SCGS
18 Tao Nan



http://www.myexampaper.sg/




RAFFLES GIRLS’ PRIMARY SCHOOL
Primary Two Mathematics
Revision

Addition and Subtraction within 1000

Name: ( )

Date:

Class: P 2 ( )

SECTION A

For each question, four options are given. Choose the correct

answer and write its number (1, 2, 3 or 4) in the brackets provided.

1. 231+57=
(1) 226 (2) 282
(3) 288 (4) 298 (
2. 467 +28=
(1) 439 (2) 495

(3) 496 (4) 747 (



3. Look at the picture. Choose the correct subtraction equation.

Hundreds

Tens

Ones

).

|
X

X
X

X

(1) 333 -234=099
(3) 387 —234=153

(2) 353-134 =219
(4) 387 —143 =244




Section B

Read the questions carefully. Write the correct answers in the
spaces provided.

4. (a) Write down the value of the second number.

Hundreds Tens Ones

@
E |

o o
oD oo
o o

]
second number E E

()

(b) Based on the diagram above, complete the addition equation below

using the first and second numbers.

157 ()




5. Find the value of A .

O+ Q) =80
O+ [\ =218
A=__

Have you checked your work?



SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL

LEVEL - PRIMARY 2
SUBJECT : MATH
TERM

BOOKLET A

Q1 Q2 Q3

3 2 3

BOOKLET B

4)second 321
157 + 321 =478
5)278 - 40 =238

Order from www.elinits.com 91271082

Pgl






RAFFLES GIRLS’ PRIMARY SCHOOL
Primary Two Mathematics
Revision
Multiplication Tables of 2, 3, 4, 5 and 10
Word Problems

Name: (. J1P2 )

Date:

Section A
Choose the correct answer and write its number in the brackets provided.

BN

Look at the picture above.

Which equation shows the total number of hearts?

(1) 34+3+3=9 (3) 5+5+6=156

(2) 3+3+3+3+3=15 (4) b+56+5+5+565=25 ( )

2. 12 apples were shared equally between 2 girls.
How many apples did each girl get?

(1) 6 (3) 14
(2) 10 (4) 24 ( )



3. Which is the related division equation for 8 x 2 = 167

(1) 8+4=2 (3) 16+4=4

(2) 8+2=4 (4) 16+2=8 ( )
4, 21 = = 7

(1) 1 (3) 3

(2) 2 (4) 4 «( )
Section B

Work out these questions carefully and write the answers in the blanks
provided.

5.

Write 2 division equations for the picture above.

O
O




x
I

Write a multiplication equation to show the total number of pears.

O

Megan used 4 buttons to sew a dress.
How many buttons did she use to sew 8 dresses?

buttons
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9. Aunt Penny gave 27 curry puffs to some children.
Each child received 3 curry puffs.
How many children were there?

children

Section C
Show all number equations and working clearly in the spaces provided.

10. Sally bought 22 markers. She gave away 2 markers.

(@) How many markers were left?

O

markers were left.

(b) After that, she packed the markers left into bags of 5.
How many bags of markers did she pack?

O

She packed bags of markers.

Pg 4



11

For every 3 books Peter bought, he was given 2 free erasers.
He bought 15 books. How many free erasers did he receive?

(Hint: Draw diagrams to help you.)

Peter received free erasers.

| have: L] checked through my work carefully at least 2 times after | completed it.
[Independent Leakner, Cautiousness, Responsibility]

Pgs
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SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL

LEVEL : PRIMARY 2
SUBJECT : MATH
TERM

BOOKLET A

Q1 Q2 Q3 Q4

2 1 4 3

BOOKLET B
518 +3=6
18+6=3
6)4+4+4=12
3x4=12
7)Y4x5=20
8)4 x8=32
9)27+3=9
10)a)22-2=20
b)20+5=4
My15+8=5

5x2=10

Order from www.elinits.com 91271082

Pgl
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RAFFLES GIRLS’ PRIMARY SCHOOL
Primary Two Mathematics
Revision
Length
Name: ( 1P )
Date:
Section A

For each question, chose the correct answer. Then, write its number
in the bracket provided.

1. The length of the stamp is cm long.

ik i e o 0 S e

(1) 9 (8) 7
(2) 2 (4) 4 «( )

15
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2. The total length of string A and string B is 470 cm.
The total length of string A and string C is 640 cm.
If string B is 283 cm, find the length of string-C.

(1) 170 cm (3) 187 cm
(2) 365cm (4) 453 cm
Section B

3. Look at the pictures below.

The total length of the paper clip and the crayon is about

4. Look at the pictures below carefully.

RSN I AR SRS

The key is cm shorter than the pencil.
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Section C

nationg
Show ali number&tences. and working clearly in the spaces
provided.

5. The length of a caris 3 m. The total length of 3 such cars and a truck is
19 m as shown below. What is the length of the truck?

19m

A

The truck is m.

6. The length of ribbons A and B, are shown below. Find the length of
ribbon B.

1 45 m

A

A 4

B 17m

Ribbon B is m.
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7. Rachel cycled 950 m. She cycled 270 m further than Kristal.
How far did Kristal cycle?

Kristal cycled m.

8. Mrs Lee used 5 m of cloth to make a set of curtains.
She made 3 sets of curtains.
How much cloth did she use altogether?

She used m of cloth altogether.

The End

I have:
O checked through my work carefully at least 2 times after I completed it.
[Independent Learner, Cautiousness, Responsibility]




19

SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL

LEVEL : PRIMARY 2
SUBJECT : . MATH
TERM

BOOKLET A

Q1 Q2

4 4

BOOKLET B

3)9cm

4)5 cm

5)3+3+3=9
19-9=10

6)4'57— 17=28m

7)956*— 270=680 m

8)5x3=15m

Order from www.elinits.com 91271082

Pgl
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RAFFLES GIRLS’ PRIMARY SCHOOL
Primary Two Mathematics

Revision
Mass
Name: ( YPr2U )
Date:
Section A

For each question, chose the correct answer. Then, write its number
in the bracket provided.

1. The mass of an apple is

(1) 10g (3) 100g
(2) 10kg (4) 100kg ( )

2. Arrange the following items accordingly.
Begin. with the lightest.

(1) rice, sugar, flour (3) sugar, flour, rice

(2) flour, sugar, rice (4) flour, rice, sugar ( )
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Section B

e
Show all number equationa and working clearly in the spaces

provided.

3. Bob bought 350g of butter. His sister used 250g of the butter.
How much butter did he have left?

He had g of butter left.

4. Miss Liu has 900gof clay. She gave 250g to James and some to Meiling. ‘

She is left with 475g of clay. How much clay was given to Meiling?

She gave Meiling g of clay.



5. Alice bought 5 similar packets of rice. The mass of each packet is 5kg.
What is the total mass of rice that she bought?

She bought kg of rice.

6. Mrs Lim has 18kg of meat. She packs them equally into 6 bags.

What is the mass of each bag?

Each bag has a mass of kg.

The End

I have:
O checked through my work carefully at least 2 times after I completed it.
[Independent Learner, Cautiousness, Responsibility]

23
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SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL

LEVEL : PRIMARY 2
SUBJECT : MATH
TERM

BOOKLET A

Q1 Q2

3 2

BOOKLET B

3)350 — 250 = 100g

4)900 - 250 = 650
650 -475=175g

5)5 x 5 = 25 kg

6)18+6=3

Order from www.elinits.com 91271082

Pgl
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SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)

Name:

PRIMARY 2 MATHEMATICS
Quiz1
UNIT 1: NUMBERS TO 1000

( )

Class: Primary2SY/C/G/SE/P/GR

Date:

Parent’s Signature:

Marks:

20

Section A

For each question, 4 options are given. One of these is the correct

answer. Make your choice (1, 2, 3 or 4) and write it in the bracket

provided.

1.  The value of digit 4 in the number 542 is

(1)
3)

2. 200=

(1

3)

40 2) 54

400 4) 4
tens

200 2) 20

2 4) 0

. 4 602 is the same as

(1)
(3)

4. The digit 3 in 703 stands for

(1)
©)

60 + 2 (2) 60+20

600 + 2 (4) 600 +20

0 2) 3

30 (4) 300

1
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Section B

For each question, write your answers in the spaces provided. All
workings must be shown clearly.

2. Eight hundred and forty written as numeral is

0. In 275, the digit

is in the tens place.

z. 300 is 10 tens more than.

8. There are

ones in 94.

g. Circle the greatest number.

879 798 789 898 987
10. Complete the number pattern below.
620 625 630 640 645




Section C
For each question, write your answers in the spaces provided.

11.  Wirite in words:

911

12.  Arrange the numbers below from the smallest to the greatest.

215 535 235 125

Smallest ' ’ Greatest

13. 10 more than 500 + 30 + 8 =

100 less than 300 + 10 + 6 =

THE END
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SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
PRIMARY 2 MATHEMATICS
Quiz 2
UNITS 2 : ADDITION AND SUBTRACTION WITHIN 1000
(INCLUDES PROBLEMS SOLVING USING MODELS)

Name:. ( )

Class: Primary 2 SY/C/G/SE/P/GR Marks:
Date: Parent’s Signature:

Section A

Choose the correct answer. Write its number in the brackets given.

1. 700+29+1=] |

(1) 730 (2) 829
(3) 739 (4) 1000
(
2. 82%6-18=] |
(1) 736 (2) 808
3) 816 4) 934

3. The sum of 572 and 39 is

(1) 533 2) 601
(3) 611 (4) 862
(
4. s532=[ 1] -10
(1) 432 (2) 422

(3) 520 (4) 542



32

5. 147+[ ]=600

(1) 453 (2) 463
3y BB7 (4) 747
( )
Section B

For each question, write your answers in the blanks provided.
All workings must be shown clearly.

6. There were 34 boys and 126 girls in a concert. How many children were
there altogether?

Ans:

7. Lulu has 784 stickers.
Sandy has 900 stickers.
How many more stickers does Sandy have than Lulu?

Ans:

8.  After selling 265 apples, Mrs Lee had 83 apples left. How many apples did
she have at first?

Ans:
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Section C

For each of the following questions, show all your workings. (Using Models)
9.  Mr Boh sold 256 fishballs on Monday.

He sold 134 fewer fishballs on Tuesday than on Monday.
How many fishballs did he sell on Tuesday?

Mr Boh sold fishballs on Tuesday.

10. Helen had 475 red clips.
Her friend gave her 308 pink clips.
How many clips did she have altogether?

Helen had clips altogether.

© End of paper ©



34



35

SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)
PRIMARY 2 MATHEMATICS
QuUIZ 3
UNITS( 3 & 4) : MULTIPLICATION AND DIVISION
(INCLUDES PROBLEMS SOLVING USING MODELS)

Name: ( )
Class: Primary 2 SY/C /G / SE /P /GR Marks: 20
Date: Parent’s Signature:.

For each question, 4 options are given. One of these is the correct

answer. Make your choice (1, 2, 3 or 4) and write it in the bracket
provided.

1 4 groups of 3 is the same as

(1) 3Ix3x3x3

(2) 4x4x4

(3) 3+3+3+3

4) 4+4+4 (

v There are fives in 30.

(1) 5
(2) 6
@3) 15
(4) 30 (

3. 89 + 8 % B = X 4

What is the missing number in the box?

(1) 4
(2) 6
(3) 8
@ 24 (
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45 = ¥ B

What is the missing number in the box?

(1) 7
2) 8
(3) 9
(4) 50
27 + 3 =
(1) 6
(2) 9
(3) 24
@) 30

For each question, write your answer in the blank provided.

6. When a number is multiplied by 2, the result is 18.
The number is. =

{. When a number is divided by 4, the result is 5.
The number is

8.  The girls in Art Club are sitting in groups of eight.

There are 3 groups altogether.

There are girls in Art Club.
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Show your workings clearly.

9.  Mary put 3 watermelons into each basket.
She used 8 baskets.
How many watermelons were there altogether?

There were watermelons altogether.

10. Joy baked 20 cupcakes and she shared them with her 4 brothers equally.
How many cupcakes did each of them eat?

Each of them ate cupcakes.

© End of paper ©
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SCHOOL

LEVEL
SUBJECT
TERM

SCGS PRIMARY SCHOOL

PRIMARY 2
MATH

Quiz 1

1) 1

2) 2
3) 3
4) 2
5) 840
6) 7
7) 200
8) 94
9) 987
10)
11).
12)
13)

Quiz 2

1) 1
2) 2
3) 3
4) 4
5) 1

635

Nine hundred and eleven
125, 215, 235, 535

548 , 216

6) 126 + 34 = 160

7) 900 —

784 =116

8) 265 + 83 = 348
9) 256 — 134 = 122

10)

39

475 + 308 =783

Pg1l
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Quiz 3

1) 3
2) 2
3) 2
4) 3
5) 2
6) 9
7) 2

0

8) 24

9) 8
10)

x3 =24
20+-5=4

Order from www.elinits.com 91271082

Pg2
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Parent’s signature:

Date:
Anglo-Qhinese School
(Primary)
A Methodist institution
{Founded 1886}
Primary 2
Mathematics Level Worksheets
2020
TERM 4
Graphs
Worksheet 1
Multiplication Tables of 3 and 4
Worksheet 2
'Add_itionvand Su’btraction |
Worksheet 3
Worksheet 4
Name: ( )

Class:
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Day:

Worksheet 1

SIO:

+ To read and interpret data from picture graphs with scales
+ To solve problems using data from the picture graphs

Study the graphs carefully. Then fill in the blanks with the correct answers.

1. The table below shows the number of books borrowed from the school

library.

idy

OO

©

©
&
©
©
©

March

April

May

June

July

a) The most number of books were borrowed in

b)

c)

d)

March to May.

books were borrowed in June.

Each @ stands for 5 books.

fewer books were borrowed in May than April.

books in all were borrowed from the months of
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2. The graph below shows the number of packets of milk that 5 pupils

bought in a week.

Wilson

-

3

- (-

— = -

- . —_

= - i Lo
] - — i I
e (- - 3 .
1 ] 3 g =1

Chloe Roxanne Brendan Mark

a) Roxanne bought

b) Mark bought

c) Roxanne bought twice as many packets of milk as

d) Brendan and Mark bought a total of

Each [ stands for 2 packets of milk.

packets of milk.

‘more packets of milk than Chloe.

packets of milk.

e) If 7 of the packets of milk that Wilson bought were chocolate milk

and the rest were strawberry milk, he bought

of strawberry milk.

packets
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3. The graph below shows the number of oranges that 5 ladies bought.

et (OO OLUD
Rl QLI LIC)

cgna | QOOOOOOOOO0O
Bty | O OO

Mabel | OO O0OO0O00O

Each O stands for 10 oranges.

a) bought 70 oranges.

b) bought 40 oranges more than Rani.

c) Betty bought oranges fewer than Siti.

d) Gina bought more oranges than Mabel.
e) bought twice as many oranges as Rani.
f) bought 3 times as many oranges as Betty.

a) and bought a total of 80 oranges.




Worksheet 2
Day: Date:

SIO:
« To muiltiply and divide numbers within the muitiplication tables of
3and 4

Fill in the blanks.

(a) . 1 (a) / (d)

(b) (©) 7

N o

3. Study the pattern carefuily.

12 ? 27

The missing number is




4, (+ G T =15 5. [(J+ [+ )+ =24

:'..4 _—_-2
Cx®-[ 9. 0-

6. (D x (D =16 7. oL =8
@:3 /\+/\+/\+/\=36

@ XQ = A+*=

(smallest)

47
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9.

John has 3 different shirts and 4 different pants.
He can match any of the shirts with any of the pants to get an outfit.
How many different outfits can he have?

He can have outfits.




Worksheet 3

Day: Date:

SIO: To carry out addition involving a
(a) 2 or 3-digit number and ones
(b) 2 or 3-digit number and tens
{c) 2 or 3-digit number and hundreds

Complete the addition equations.

1. 5B4+7= 6. 148+ 50=
2. 713+9= 7. 490+ é(}(} =
3. 76 + 20 = 8. 676 + 40 =
4. 91+30= 9. 654+300=

5, 80+40= 10. ©635+200=




Worksheet 4
Day: Date:

SI10: To carry out subtraction involving a
(a) 2 or 3-digit number and ones
(b) 2 or 3-digit number and tens
(c) 2 or 3-digit number and hundreds

Complete the subtraction equations.

1. 41-6= 6. 153-80=
2. 64-8= 7. 319-40=
3. 373-50= 8. 525-70=
4. 188-30= | 9. 669-200=

5. 203-60= 10. 703-300=
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Worksheet 3

Day: Date:

SIO: To solve word problems involving mixed opergtions

& Mrs Tan bought three bottles of oil. Each bottle contained 6 £ of oil.

Mrs Tan used 5 £ of the oil to cook food for a party.
How many litres of oil did she have left?

She had £ of oil left.

Z, Container X holds 4 £ more than Container Y.
Container Y holds 5 £ more than Container Z.
If Container Z holds 15 £, what is-the capacity of Container X?
(Hint: Work backwards)

The capacity of Container X is £

working



3. Mrs Yee poured 27 £ of orange juice equally into 3 jugs of the
same capacity. What was the capacity of 2 such jugs?

working

The capacity of 2 such jugs was L

*4. Jar A and Jar B holds 45 £ of juice altogsther.,
If Jar A holds 5 £ of juice more than Jar B,
what is the capacity of Jar A?

The capacity of Jar A is L

52



SCHOOL

LEVEL. :
SUBJECT :
TERM

ANGLO - CHINESE SCHOOL

PRIMARY 2
MATH
2020 SA2

WORKSHEET 1

Q1 (@
(b)
©
(d)

June
25
15
35

Q2 (@
(b)
©
(d)
(e

12

.Chloe

22
11

Q3 (@)
(b)
©
(d)
(e)
®
€))

Mabel

Siti

60

30

Gina

Siti

Betty and Rani

53




WORKSHEET 2

Q1 (@ 2

(b) 3

ey 12

d 21
Q2 (@) 20

(b) 12

(c) 24

(d) 16
Q3 28
Q4 20
Q5 3
Q6 32
Q7 3
Q8 1,9,12,40
Q9 3 X4 =12o0utfits
WORKSHEET 3 SIO
Q1 15
Q2 241
Q3 18L
Q4 21L

54

Pg 2
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WORKSHEET 3

Q1 61
Q2 82
Q3 96
Q4 121
Q5 120
Q6 198
Q7 690
Q8 716
Q9 954
Q10 835
WORKSHEET 4
Q1 35
1'Q2 56
Q3 323
Q4 158
Q5 233
Q6 73
Q7 279
Q8 455
Q9 469
Q10 403

Order from www.elinits.com 91271082

Pg 3
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Anglo-Qlinese Srhool (Junior)
Mathematics
Bite-sized Assessment 1 (2019)
Primary 2
Name : ( ) 5 March 2019
Class : P 2.
20
Parent’s Signature :
Questions Skills and Concepts
1,2,3.5 Counting to 1000, Place Values
6,7,9,10 Comparing Numbers, Order and Patterns, Even
and Odd Numbers
4 8 Addition / Subtraction Within 1000
Section A (4 x 2 marks)
1. What is the value of the digit 4 in the number 649?
1 4 (2) 40
(3) 49 (4) 400 ( )
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2. Write in numbers.

7 hundreds 3 ones =

Q) 37 (2) 73
(3) 703 (4) 730

3. Which of the following is the missing number?

264 = 200 + + 4
(1) 6 (2) 60
(3) 468 (4 600
4. (a)
B 6 9
+ 1 3
7 2 2

What is the missing digit in the box above?
1 4 (2) 5
3) 6 (4) 8
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4. (b)

7 4
- 5 9 6
1 8 8

What is the missing digit in the box above?
1 1 (2) 2
3) 7 (4) 8

Section B (6 x 2 marks)

5. (a) In 635, the digit 6 is in the

(b) Write in words.
342

place.
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6.(a) is 100 less than 1000?

(b) 10 more than 790 is

7. Complete the number pattern below.

(a) 285, 295, . o315, 325,
(b) 503, 403, 303, 203,
8. (a) Add (b) Subtract
3 6 8 7 0
+ 5 8 b -1
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9. (a) Use all the digits below to form the greatest 3-digit odd

number.

The greatest 3-digit odd number is

(b) Use all the digits below to form the smallest 3-digit even

number.

The smallest 3-digit even number is
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10. Arrange the numbers in order.

Begin with the greatest.

Please check your work carefully!
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SCHOOL : ACS (J) PRIMARY SCHOOL

LEVEL : PRIMARY 2
SUBJECT : MATH
TERM : 2019 CA1

BOOKLET A

12

2)3

3)2

4 a)2

4b)4

BQQKLErB

5a)hundreds

5b)Three hundred and forty-two .
6a)900

6b)800

7a)305

7b)103
8a)953

8b)576

Pg1
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9a)429
9b)258

10) 987,978,897, 879

Order from www.elinits.com 91271082

Pg2
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SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)
PRIMARY 2 MATHEMATICS
QUIZ 4
UNIT (5 & 6) : LENGTH AND MASS
(INCLUDES PROBLEMS SOLVING USING MODELS)

Name: ( )
Class: Primary2SY/C/G/SE/P/GR
Marks: 20
Date: Parent's Signature:
Section A

For each question, 4 options are given. One of these is the correct
answer. Make your choice (1, 2, 3 or 4) and write it in the bracket

provided.

Use the diagram below to answer Questions 1 and 2.

~——
|
§
<

<
s
<
<

atmmenmdr—aiet

TV Illlll"l Illl;ll!l T ¥ T
Ocm 1 2 3 4 5 6 7 8 g 10 1 12 13 14

t 3
AL L AL LD LI ELA LAY LU LLLL LA

LLALA |
15

1. The pencil is cm long.

(1) 5 (2) 6

(3) 11 4) 12 (
2.  The total length of the scissors and the paper clip is

(1) 9 2} 13

(3) 15 (4) 18 (

cm.
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3. Which of the following is the lightest?

(1) P (2) R
(3) S 4) T
Section B

For each question, write your answer in the space provided.

4.  The chart below shows the height of 4 girls.

Name Height
Ellen _ 134 cm
Fatimah | 162 om
Su Ling 127 cm
Kann 119 cm
Kann is shorter than the tallest girl by cm.

5. Fill in the blanks with kg, g, m orcm.

(a) The file is about 3 thick.

(b) The mass of a watermelon is about 2




lkg | lkg

2kg | 2kg

/\

The mass of the bag of rice is. kg.

A bag of sweets has a mass of 8g. Doris buys 5 bags of sweets.
What is the total mass of 5 bags of sweets?

The mass of 5 bags of sweets is g.

Look at the pictures below.

204

S

30g 1009

The mass of the bunch of grapes is g.
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Section C

For Questions 9 and 10, show your models and workings clearly.

9.  Stick Ais 96 cm long.
Stick B is 13 cm longer than Stick A.
How long is Stick B?

Stick B is. cm long.

10. A box.with 3 bowling balls has a mass of 17 kg.
The mass of the box is 2 kg when it is empty.
What is the mass of each bowling ball?

The mass of each bowling ball is kg.
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SINGAPORE CHINESE GIRLS’' SCHOOL
| PRIMARY 2 MATHEMATICS

QUIZS
UNIT (8) : FRACTIONS

Name: ( )
20
Class: Primary2SY/C/G/SE/P/GR Marks:
Date: Parent’s Signature:
Section A

For each question, 4 options are given, one of these is the correct answer.
Make your choice (1, 2, 3 or 4) and write it in the bracket provided.

1. Which one of the following fractions is the greatest?

(1) @ 3

N |

4) 5

~[=

3)

of the above is shaded.

W

(2)

niw

(1)

ool

(4)

ole

3)
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Section B
For each question, write your answer in the spaces provided.

3.  What fraction of the figure is unshaded?
Ans:
4.  Arrange the fractions in order beginning with the smallest.
sl 5 9 3
2z 2 32 * 12 ¢ 12
Ans: : 4
(smallest)
3 8
=Y g =9
Ans:
2 4
B. - 10 T 10
Ans:




8 and % make 1 whole.

Ans:

Section C
For each question, write your answer in the spaces provided.
All workings must be shown clearly.

8.  Letty painted % of her room on Friday.

She painted % of her room on Sunday.

What fraction of the room was painted on both days?

of the room was painted on both days.

71
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9.

Minah cut an apple pie into 6 equal pieces.

She ate% of the apple pie and her sons ate% of it.

a) What fraction of the apple pie was eaten?

of the apple pie was eaten.

b) What fraction of the apple pie was left?

of the apple pie was left.




73

10. Mrs Chen cut a chocolate cake into 10 equal pieces. She gave away a
few pieces to her friend. If 6 pieces were left, what fraction of the
chocolate cake did she give to her friend?

Mrs Chen gave of the chocolate cake to her friend.

Please check your work.
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SINGAPORE CHINESE GIRLS’ SCHOOL
PRIMARY 2 MATHEMATICS

QUIZ 6
UNIT (9) : SHAPES, SOLID FIGURES AND PATTERNS

Name:. ( )
Class: Primary2SY/C/G/SE/P/GR Marks:
Date:

20

Parent’s Signature:

Section A

Choose the correct answer and write its number (1, 2, 3, or 4 ) in the

brackets provided.

1. How many triangles are there in the picture below?

I R
O
(1) 5 @ 2
@ 3 “4) 4 (

2. The figure below is made up of 3 shapes. Name the shapes.

(1) circle, rectangle and triangle
(2) quarter circle, square and triangle
(3) rectangle, semicircle and square

4) square, semicircle and triangle (




3. Find the missing shape to complete the pattern below.

XONAVIXOAVIX O ||V

(1) X @) {}
(2) v (4) A ()

4. Which of the figure below has 2 flat surfaces and a curved surface?

M A 2) B

@ C (4) D « )

5. Study the pattern below carefully.

D NOLI@ANO

1st an 3rd 4th 5fh 6th 7fh 8'rh 9fh

Which shape is in the 12* position?

o O

4) ( )
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Section B

Read the questions carefully. Write your answers in the blanks provided.
All working must be shown clearly.

6. Look at the letters below. Which of these letters have curves only?

Circle your answer.

GJQOBSR

7. Thereis/are. _semicircle/s and__ squarefs

shown in the figure below.

S

| /
//:

8. There are flat surfaces in the solid below.




78

9. The figure below is made of straight line(s) and
_curve(s).

Q)

10. Study the pattern below. What is the missing shape?

SINORT PN R T

Cross the missing shape in the box below.

20N
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SCHOOL : SCGS PRIMARY SCHOOL

LEVEL :  PRIMARY 2
SUBJECT : MATH
TERM :

Quiz 4

1) 2

2) 3

3) 4

4) 33cm

5) a) 3cm
b) 2 kg

6) 3 kg

7)40 g

8) 155 g

9) 96 + 13 =109

10)17 —2=15
16+3=5

43 5 7 9
)12’12’12’12
5)5
9
6
6]
10

Pg1
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Quiz 6

1) 3
2) 4
3) 4
4) 3
5) 2
6)0,S
74,2
8) 6
9)2,3
10)

Order from www.elinits.com 91271082

Pg 2



ROSYTH

.
- “

Rosyth School
Mathematics
Primary 2
Topical Review 2020 (Term 1)

Name: ( )
Class: Pr 2-__ , Duration: 30 minutes
Date: Parent's Signhature:

Teacher's Assessment

Getting

it
Hhepe Got itl

Your child is able to: Question

Numbers to 1000

Understand a 3-digit number in terms of 1
hundreds, tens and ones.

Read and write 3-digit numbers and the 2
corresponding number words.

Recognise number patterns. 3

Identify odd and even numbers. 4
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Addition and Subtraction within 1000
Add within 1000 without renaming.
Subtract within 1000 without renaming.
Add within 1000 with renaming.
Subtract within 1000 with renaming.

Solve 1-step word problems involving addition and
subtraction

7.8
9,10

U, 12

Teacher’s Feedback (if any):
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Pupil's Self -Assessment

subtraction

»I am able to: Question
Numbers to 1000
Understand a 3-digit number in terms of 1
hundreds, tens and ones.
Read and write 3-digit numbers and the 2
corresponding number words.
Recognise number patterns. 3
Identify odd and even numbers. 4
Addition and Subtraction within 1000
Add within 1000 without renaming. 5
Subtract within iOOO without renaming. 6
Add within 1000 with renaming. (M
Subtract within 1000 with renaming. 9,10
Solve 1-step word problems involving addition and 11,12

I've checked my work before handing it in.
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Section A
There are 10 questions in this section. Read the questions carefully.

Write your answers in the boxes provided.

1. In 901, the value of digit 9 is

2. Write seven hundred and thirty-four in numbers.

3. Count and complete the number pattern.

121, 122, 124, 125, 127, 128, - 181133




85

4. Make the smallest 3-digit even number using the cards below.
Use each card once.

5. 233+ 45=

6. 762~ 311 =

7. Fill in the boxes with the correct number.
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8. Which two numbers give a total of 1000?

and

415

9. Write the correct answer in the box.

Add 128

A 4

472

10. Find the difference between 906 and 78.




SECTION B

There are 2 questions in this section.

Read the questions carefully. Show all your workings clearly.

Write your answers in the space provided.

11) Jane baked 762 tarts on Monday.
She baked 110 more tarts on Monday than Tuesday.
How many tarts did she bake on Tuesday?

Jane baked

OLIO

‘ tarts on Tuesday.

12)  Peter had a set of cards.

He gave 25 cards to his sister and had 235 cards left.

How many cards did Peter have at first?

OO

Peter had

cards at first.

87

- End of paper -
7

Working
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SCHOOL

ROSYTH SCHOOL

LEVEL : PRIMARY 2

SUBJECT : MATH

TERM : 2020 TERM 1

SECTION A

Q1 900

Q2 734

Q3 130

Q4 690

Q5 278

Q6 451

Q7 81

Q8 435 and 565
Q9 344

Q10 828
SECTION B

Q11 762 — 110 = 652
Q12 235 + 25 = 260

Order from www.elinits.com 91271082
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10

ROSYTH
—

luuvf
Rosyth School
Mathematics
Primary 2
Topical Review 2020 (Term 3)

Name: . ( ) Date: _

Class: Primary2 Parent’s Signature:

Teacher's Assessment

Getting

itl
P Got it!

Your child is able to: - Question

Length

Estimate and measure length in metres / centimetres :
Draw a straight line given of a given length -

Compare lengths 3

Money

Convert dollars and cents to cents, and vice versa 45
Compare two amounts of money 8

Solve word problems involving money in dollars 10

Addition and Subtraction (Problem Sums)

Solve a 1-step addition / subtraction word problem 6,9

Solve a 2-step addition / subtraction word problem 11,12

Teacher’s Feedback (if any):
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Pupil’s Self-Assessment

| am able to:

Question

Length

Estimate and measure length in metres / centimetres
Draw a straight line given of a given length

Compare lengths

.

Money

Convert dollars and cents to cents, and vice versa
Compare two amounts of money

Solve word problems involving money in dollars

4,5

10

Addition and Subtraction (Problem Sums)
Solve a 1-step addition / subtraction word problem

Solve a 2-step addition / subtraction word problem

6,9

11,12

| have checked my work before handing in
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Section A: Short-Answer Questions

Read the questions carefully.
For questions 1 to 9, write your answers in the boxes provided.

1. Find the length of the paper clip below.

15

Ans: : cm

2. Fillin the blanks with the appropriate unit, cm or m.

The height of the classroom door is about 2

3. Use aruler to draw a straight line that is 6 cm long in the box below.
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4.  Write the following in numerals.

Ten dollars and fifty-five cents = $

5.  Write the amount in cents.

$1.50 = 1 ¢

6. Rajahad 270 beads. He gave away 140 beads to his brother.

How many beads does Raja have now?

Ans:

7. i Eraser

Marker

1
1
)
3
i

2: 3. 4 B 8 7L 9 M0 Hfa 48 14 a8
v { ) 3 g
The marker is cm longer than the eraser.
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8.

Put a tick (v') in the box for the set with the lesser amount of money.

9.

Nancy had some cookies.

She gave awéy 13 cookies and had 68 cookies left.

How many cookies did Nancy have at first?

Ans:




Section B: Long-Answer Questions

Read the questions carefully.

For questions 10 to 12, show all your number equations and workings

clearly.

10. Tom bought 2 toy cars at $6 each. Working
He gave the cashier $50.

(a) How much did Tom pay for the 2 toy cars?

Tom paid $ for the 2 toy cars.

(b) How much change did he receive?

He received $ as change.




11. Lisa sold 136 bookmarks on Monday.
She sold 18 more bookmarks on Monday than .

on.Tuesday.

(a) How many bookmarks did she sell on

Tuesday?

She sold bookmarks on Tuesday.

Working

(b) How many bookmarks did she sell altogether?

She sold — bookmarks altogether.

97
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12. Ali baked 78 cupcakes.
He baked 29 fewer cupcakes than Patrick.

(a) How many cupcakes did Patrick bake?

Patrick baked cupcakes.

Working

(b) How many cupcakes did they bake

altogether?

They baked __ cupcakes altogether.

- END OF PAPER -

Please check your work. ©



SCHOOL : ROSYTH SCHOOL
LEVEL : PRIMARY 2
SUBJECT : MATH
TERM - 2020 TERM 3
SECTION A
Q1 3cm
Q2 m
Q3 (6cm)
Q4 $10.55
Q5 - 150cent
Q6 130
Q7 6
Q8 (B)..
Q9 13 + 65 =81
SECTION B
Q10 (@A) 2Z2x6=12

(b) 50-12 =38
Q11 (@A 136—-18=118

(b) 118+ 136 =254
Q12 (@ 78+29 =107

(b) 107 +78 =185

Order from www.elinits.com 91271082
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Pg1l
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TAQ NAN SCHOOL

HOLISTIC ASSESSMENT MATHEMATICS REVIEW (1) 2020

Name:

Class : P 2 { )
Date: 26 June 2020

Parent's signature :

Duration : 45 minutes

{

)

30

Section A (6 x 1 mark)

Mental Sums

Listen to your teacher.

Write your answers in the boxes provided.




Section B (16 x 1 mark)

Read the questions carefully.
Write the correct answers in the boxes provided.

7. In 673, the digit is in the tens place.

8. Write in words.

948

Q. Write in numerals.

489 = 400 + tens + 9

10. Form the biggest 3-digit number using these digits.

8 6 9

The number is

11. Complete the number patiern.

523 , , 499 , 487 , 475

102



12. Amrange the numbers from the smallest to the greatest.

ey &

smallest

13.

14,

NN

103



15.

16. ]

BN
AW

17. Use the numbers given to write an addition equation and a
subtraction equation.

EACIAY,

104
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18 Fillin the missing number.

D 40

19.  Fillin the missing number.

10x 2 =

% 5

20. 18 cookies were shared equally among 9 children.
How many cookies did each child get?

g oe
g oo

e Rl o F
grov
g- oo

omoném'-omonogao:;o
oo‘z 90‘3 QO‘Z]QO? ooﬁg 903 % a 9
> &y

Sy /ooy /oS o)\ fos o\ fog
s o > 2 D o
Ya Tiia Tia THS TIVe
& \ B o 5 &

o g
gocy
aG o
oQp

S

QQ

Y5

>
o 020 og o0 B Jc’g
B NI ANE:) o T ({’o
AN AR N 2

oG o
gV oo
s J o

O

21. There are 10 pencils in a box. Mr Samad has 10 such boxes.
How many pencils does he have altegether?

O




Section C (4 x 2 marks)
Solve the word problems.
Show your working cleatrly.

22. Musa baked 430 chocolate and vanilla cupcakes.

There were 170 vanilla cupcakes.
How many chocolate cupcakes did Musa bake?

He baked chocolate cupcakes.

23. Linda used 350 beads to make a necklace.
She used 120 fewer beads than Amy.
How many beads did Amy use?

Amy used beads.

106
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24. Mrs Tan ordered 9 boxes of pizza.
There were 5 slices of pizza in each box.
How many slices of pizza did she order altogether?

She ordered slices of pizza.

25. 24 paper balls are packed equdally into 2 bags.
How many paper balls are there in each bag?

There are paper balls in each bag.

End of Paper
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SCHOOL : TAO NAN SCHOOL

LEVEL : PRIMARY 2
SUBJECT : MATH

TERM : 2020 REVIEW 1
SECTION A

Q1 Q2 Q3 Q4 Q5 Q6
20 82 29 34 12 35

SECTION B
Q7 7
Q8 ' nine hundred and forty — eight
Q9 ‘ 8
Q10 ~ 986
Q11 511
Q12 606,610,660,686
Q13 298
Q14 353
Q15 604
Q16 79
Q17 (@ 111+ 256 = 367
(b) 367 —111 = 256
Q18 8
Q19 4
Q20 18+9=2
Q21 10 x 10 = 100

Pg 1

109
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Q22

430 —-170 = 260

Q23 350 +120 =470
Q24’ 9 x5 =45
Q25 24+2 =12

Order from www.elinits.com 91271082

Pg 2
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TAO NAN SCHOOL
HOLISTIC ASSESSMENT MATHEMATICS REVIEW (2) 2020

Name: { )
Clorss 2 P2 { Duration : 45 minutes
Date: 31 August 2020 30

Parent’s signhaiure:;

Section A (21 x 1 mark)

Read the questions carefully.
Write the comrecit answers in the boxes provided.

1. 10groupsof 3 =

2.8, 12, 16, | 24, 28

3. Wirite a mulliplication equation and a division equation for the
picture below.

TR (RAR) (RAk
we) k) \ork

It

; O
©,

b)
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4,  Mrs Tan baked 24 cookies. She packed the cookies into 4 equal

bags. How many cookies are infeach)bag?

There are cookies in each bag.




5. Divide 12 sweets into groups of 3.

Write a division equation to show the number of groups of sweets.

O .

6. Muthuread 3 pages of a book each day, from Monday to Saturday.

How many pages did he read altogether?

He read pages altogether.




7. Michael saves $3 in his piggy bank every day.

How long does he take to save $217

He takes days to save $21.

8.  Use your ruler to measure the length of the paper clip.

The paper clip is cm long.

114
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9. Draw a straight Line XY with a length of 8 cm in the box below.

10,  Sitiis 131 cm tall. Jessie is 118 cm tall.

How much taller is Siti than Jessie?

Siti is

Jessie

cm taller than Jessie.
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11. Fillin the box with ‘ecm' or ‘'m’.

Some Primary 2 children visited the zoo last year.

A giraffe at the zoo is about 6

tall,

12. Look at the picture below.

pencit A | (((

= 2%
= '

I (==3
TR T T TR UL RIE
0 1 2 3 4 5 é 7 8 ? 10
cm

Pencil B is cm shorter than Pencil A.

6



13. ninety-five cents = $

14. Count the amount of money in the box below.

3?\}_(:\ vy

3, O,
LSRR TN
3imie i

The amount of money in the box is $ 2

117
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15. Three friends saved some money as shown below.

Who saved the least amount of money?

Lucy Mary Noah
el L0

180 ¢

saved the least amount of money.

16. James bought a pencil and a sharpener at the bookshop.
He gave the cashier a $1 coin.

How much change did he receive?

Sharpener
45¢

Pencil
50¢

He received $ change.
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17.  Alice spent $7 altogether at a food outlet.

She ordered 1 side dish, 1 main dish and 1 drink for lunch.

What did she eat?

&

) Menu

)

Side dish

French fries..vnviviiieriieeiiieann, $1.50
Chicken wing......ccocccvviininnenen. $1.70
Main Dish
Chickenrice.......cocovevevnennnen....$34.00
Fishball Rootlles,, . s s $3.50
Drinks

Botiled water.....covvvvvvverveeninnnn $0.80
lced Milo......cverriiiiiieineeeenans $1.50

Alice agte

4 and




18. The clock shows minutes after 1.00 p.m.

19. Fillin the box with ‘a.m.’ or '‘p.m.’

Sarah was eating lunch with her family at 2.00

10
120



20. Draw the missing minute hand on the clock to show 9.25.

Remember to use a ruler to help you.

21. Benreached the park at 8.30 a.m.

He jogged for half an hour.

Ben finished jogging at a.m.

11

121



Section B (4 x 2 marks)
Read the questions carefully.
Write your answers in the spaces provided.

22. 135 adulls, 48 boys and 20 girls visited the carnival.

How many more adults than children were there?

O

There were children at the carnival.

O

There were more adults than children.

12

122




23. Alex collected 214 stamps.
He collected 78 more stamps than Josh.

How many stamps did they collect altogether?

O

Josh collected stamps.

il

O

They collected stamps altogether.

13

123




24. Mary had $100.
She bought a dress which cost $33 and a pair of shoes
which cost $45.
How much money hiad Mary left?

O

Mary had $ left.

14

124
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25,

A tailor bought 24 m of cloth to sew some clothes.
After using 18 m to sew some shirls, she used the
remaining cloth to sew 2 identical pants.

How much cloth did she use for each pants?

it

O

() :

She used m of cloth for each pants.

End of Paper

15
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SCHOOL TAO NAN SCHOOL
LEVEL ’ PRIMARY 2

SUBJECT : MATH 2020

TERM CA2
Q1 30
Q2 20
Q3 (a) Ix5=15

(b) 15+-3=5

Q4 6
Q5 12+-3=4
Q6 18
Q7 7
Q8 5
Q9 Line xy
Q10 13
Q11 6m
Q12 1
Q13 $0.95
Q14 $22.30
Q15 Lucy
Q16 $0.05
Q17 iced milo,chickenrice and french fries
Q18 15
Q19 p.m.

12



Q20

Q21 9.00

Q22 48 + 20 = 68
135 - 68 =67

Q23 214 —-78 =136

136 + 214 = 350

Q24 33+45=178
100 — 78 = 22

Q25 24—-18=6

6+-2=3

128

Order from www.elinits.com 91‘271082

Pg2
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TAO NAN SCHOOL

HOLISTIC ASSESSMENT MATHEMATICS REVIEW (3) 2020

Name: { )
Class: Pr2 Duration: 1 hour

Date: 23 October 2020 /
30

Parent’s signature:

Section A {18 x 1 mark)
Read the questions carefully.
Write the cormrect answers in the boxes provided.

oo JF AN
|
woll I oV
Il

2. Complete the sentence with the cormrect unit 'kg’ or 'g’.

The mass of an 8 year-old boy is about 25

129



3.  Arrange the following fractions in order starting with the smallest.

smallest

4. Look at the object on the left and draw the same object in the grid
on the right using a ruler.

130



g, Name the shapes that make up the figure below.

The figure is made up of '

and

6. Arrange the boxes in order, starting with the heaviest.

Box C

Box Box Box

heaqviest

131



7. Count the number of each 3D-shape and fill in the information in.
the table below.

3D Shapes Number of each shape

Sphere

Cone

Cuboid

8. Louis bought a pizza.
He cut the pizza into 8 equal slices.
If he ate § slices, what fraction of the pizza was left?

of the pizza was left.

132



7 y .
9. Colour the missing parts so that = of the circle is shaded.

10. What is the volume of water in the beaker?

The volume of water in the beaker is mé .

133
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11. Al the water in these containers is used to fill up the cups.

Glass

Arrange the containers from the greatest to the smallest volume.

greatest

12. Look at the picture below and complete the sentence.

monkey

The is lighter than the
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13. Study the diagram below. Which object is the heaviest?

Object

€)
\ A

‘ Object A

l Object C

is the heaviest.

14.  What is the total mass of the two boxes?

253g

3479

The total mass of the two boxes is g.




15. What fraction of the figure below is shaded?

of the figure is shaded.

16.  How many more parts must be shaded so that half of the figure
1s shaded?

more parts need to be shaded.

136



137

17. How much water must be poured from Pail X into Pail Y so that
there is an equal amount of water in both pails?

]

70 mé

30 mé

mé

of water must be poured out from Pail X

into Pail Y.

18.  Study the pattern below.

I kefe e

Circle the shape below that should be placed in the box to
complete the pattern.

¢ E‘> @
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Section B {6 X 2 marks)
R the guestions carefully.
Show your workings and equations clearly.

19. A crayon weighs 3g. A box containing 5 crayons
weighs 17g.

il

l@ 5 L
i

A Li39ly
V

a) Whatis the mass of the 5 crayons?

O

The mass of the 5 crayons is g.

b} What is the mass of the empty box?

O i

The mass of the empty box is a.

10
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20. Mrs Gan made fruit punch by adding water and syrup.
She had 150 mé of syrup. She used 380 mé more water

than syrup.

a) Whatis the volume of water used?

O

]

She used _ m¢ of water.,

b} What is the volume of fruit punch Mrs Gan made?

O

She made mé of fruit punch.

11




21, There are 80 ¢ of waterin Tank A and Tank B altogether.
Tank A contains 52 € of water. How many more litres of

water are there in Tank A than in Tank B?

There are € more water in Tank A

than in Tank B.

12
140




22. Badla has 412 marbles.

Colin has 22 more marbles than Bala but 139 fewer
marbles than Dexter.

How many marbles does Dexter have?

Dexter has marbles.

13
141



23. Darylis 38 kg.
Joseph is 14 kg heavier than Daryl.
Sarah is 23 kg lighter than Joseph.

How heavy is Sarah?

Sarah weighs kg .

14
142
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24. Study the pattern below.

S
) @
® @ ® ?
1 0oe 0&e [88e
Figure 1 Figure 2 Figure 3 Figure 4 Figure 5

a) Draw Figure 5 in the box below.

b) How many circles are there in Figure 67

There are circles in Figure 6.

End of Paper

15




144



145

SCHOOL : TAO NAN SCHOOL
LEVEL : PRIMARY 2
SUBJECT : MATH
TERM 2020 SA2
Q1 2

8
Q2 Kg
Q3 LRy

9’7’6’5
Q4 ANSWER ---> ‘ /
Q5 Circles, triangles and rectangles.
Q6 C—->A->B
Q7 1
3
1

Q8 3

8
Q9 Shade 3 more pies
Q10 4ml
Q11 flask — teapot — glass
Q12 monkey is lighter than the lion
Q13 B
Q14 600
Q15 1

4
Q16 2

Pg1

13



Q17 20ml
Q18 Downward arrow
Q19 3x5=15
Q19(b) 17=15=2
Q20 (@ 150+ 380 =530
(b) 530+ 150 = 680
Q21 241
Q22 412 + 29 = 441
441 + 139 = 580marbles
Q23 38 + 14 = 52
52 — 23 = 29kg
Q24 (a) Answer ---> 8
(b) 10 8 o660

Order from www.elinits.com 91271082
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14

Nan Hua Primary School
Primary 2 Mathematics
Term 1 Review (Unit 1 — 2)

Name: _ ( ) Class: Primary 2 (

Date: .

Duration: 30 minutes

Marks:

20

Parent’s Signature:

N

Fill in the boxes with the correct answers. (1 m each)

Write three hundred and eighty-nine in numerals.

N
(&)
q
g
a
o

Arrange these numbers in order.
Begin with the smallest number.

258 172 | 249

smallest

What number is 10 less than 5067

The number is

734 + 142 =




6. 877 - 406

1

7. 458 + 293

8. 835 - 189

I

9.  You are given the three number cards below.
oot

Arrange these cards to form the greatest nurhbér that is-les$ than 500.

The greatest number is

10. Thereare even numbers from 135 to 147.

B. Fill in the boxes with the correct answers. (2 m each)

11.  What are the 2 missing numbers?

| | l | | l
| l | l | |

273 283 293 313

12, ~ 339 = 474

148 -



C. Read the following word problems carefully.
Show your equations, workings and models clearly.
Complete the answer statements. {3 m each)

13. Darren has 135 stickers.
Mary gives him another 48 stickers.
How many stickers does Darren have now?

Darren has stickers now.

14. Andy has 546 marbles.
He has 167 more marbles than Jane.
How many marbles does Jane have?

Jane has marbles.

149
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Nan Hua Primary School
Primary 2 Mathematics Worksheet
Term 2 Test - Units 5 and 6

Name: ( ) Class: Primary2 ( )

Date: 8 May 2018 Marks:

Parent’s Signature:

20

A. Read the instructions and answer the questions carefully.

(1 mark each) -

1. Bx2=

2. &x10=

3. 7x5=

4. 20+ &5=

5. 80+10=

6. 3 X 5 is the same as X 3

7. 8+8+8+8+8isthesame as “groups of 8.




8. Share 12 bananas equally between 2 monkeys.

DI DD D
SIPP

12+2=

9. Circle the cookies to show groups of 10.

10. Write a multiplication equation to show the total number of bees
in the pictures below.

152



B.

Fill in the boxes with the correct answers. (2 marks each)

i1.

in 7 days.

How much will he save in 7 days?

Bala saves $2 each day.

He saves $

12. The pictt.Jre below shows 5 groups of buiterflies.

butterflies,

Wirite a division equation for the picture below and

Each group has

153
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Read the following word problems carefully.

Show your equations, workings and models clearly.

Complete the answer statements. (3 marks each)

13. There are 6 baskets.
Each basket has 5 watermelons.

How many watermelons are there in all?

There are watermelons in all.

14. 40 stamps are shared equally among 4 friends.

How many stamps did each friend receive?

Each of them received stamps.
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ANSWER KEY

YEAR : 2018

LEVEL  :PRIMARY 2

SCHOOL : NAN HUA PRIMARY SCHOOL
SUBJECT : MATHEMATICS

TERM : TERM 1 REVIEW , TERM 2 TEST

TERM 1 REVIEW
A

Q1) 389

Q2) 6

Q3) 172,249,255
smallest

Q4) 496

Q5) 876

Q6) 471

Q7) 751

Q8) 346

Q9) 453

Q10) 6

B

Q11)

|
P |
273 283 293 303 313 323
Q12) 813
C
Q13) (183)
135+ 48 = 183

14



Q14) (379)
546 -167 = 379

TERM 2 TEST

Q1)6x2=12

Q2)5x10=750

Q3)7x5=35

Q4)20+5=4

Q5)80+-10=8

Q6)3 x5isthesameas5 x 3

Q7) 8+ 8+ 8+ 8+ 8isthe same as 5 groups of 8.
Q8)12+2=6 -

Q9)

Q10) 2x7=14
B
Qi11)2x7 =14

Q12) 15+5=3

Q13) (30)
6x5=30

Qi4)(10)
40+-4=10
THE END

Order from www.elinits.com 91271082
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Nanyang Primary School
Primary 2
Mathematics
Combined Topical Test 2

Name: 1§ AN

Class: Primary 2( ) /30

Parent’s Signature:

Duration: 45 minutes

Any query on marks awarded should be raised by 17 May 2018. We
seek your understanding in this matter as any delay in the confirmation
of marks will lead to delays in the generation of results.

Section A
Questions 1 to 8 carry 1 mark each.
For each guestion, four options are given.
One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and write your answer (1, 2, 3 or 4)
in the bracket ( ) provided.
(8 marks)

1. Fill in the blank.

7x3= ?

(1) 27 (2) 21
(3) 10 “ 4 ( )
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2. Look at the pictures below.

Which of the following correctly shows the total number of

books?

(1) 5+5+5+5 2) 4+4+4+4

(3) 4+5 (4) 5x5 (
3. 18+ 2 |=6

What is the missing number in the box?

(1) 24 2) 12
(3 3 4y 4 (
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4.  The table below shows the lengths of 4 strings.

String A 100 cm
String B 80 cm
String C 5cm
String D 120 cm

‘Arrange the length of the strings from the shortest to the
longest. ,
Which one of the following shows the correct order?

(1) D,A,B,C 2) C,
A,B,D

D LA,D
(3) C, D

B
« B, (4) B,AD,C ( )

5. Mrs Tan gave 40 candies equally to 4 children.
How many candies did each child get?

(1) 44 2) 36
(3) 10 (4). 4 ( )

6. Hazel had 8 friends.
She gave 3 tarts to each friend.
How many tarts did she give to her friends in all?

(1) 32 (2) 24
@ M @ 5 ( )
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7.  There were a total of 9 goats and birds in a farm.
All the goats and birds had a total of 26 legs.
How many goats were there in the farm?

&
(\g
(1) 16 (2) 10
(3 5 4y 4 (

8.  Ali has a ribbon shorter than 30 cm but longer than 24 cm.
He can cut it into 3 equal pieces as shown below.
How long is Ali’s ribbon when he cuts it 5 cm shorter?

L 1 : |
(1) 32cm (2) 25cm
(3) 22cm (4) 19cm (

160 4



Section B
Questions 9 to 13 carry 2 marks each.
Show your working clearly and write your answers in the spaces
provided.
For questions which require units, give your answers in the units
stated.

(10 marks)

9.  Study the picture below.

Write two division equations based on the picture.

-
OLIO

161
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10. Look at the picture below.

[ TTTT Tl

1 2 3 4 5 6 7T 38 9210123 WI5

[ ==X _

[¢]
B © —]

Find the length of the pencil.

Answer: cm

11. Using your ruler and pencil, draw Line XY -witha length
of 8 cm inthe box provided.
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12. Fill in the blanks with either ‘em’ or ‘m’.

a) The height of a giraffe in a zoo is about 5

LW a—

b) The length of a paper clip is about 3

13. A piece of wood is 36 cm long. _
It is cut into 4 equal pieces to form the square below.
What is the length of each. piece of wood?

Answer: cm
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Section C
For questions 14 to 16, show your working clearly and write your

answers in the spaces provided.
The number of marks available is shown in brackets [ ] at the end

of each question or part-question.

(12 marks)

14.

Hui Min bought 5 packets of cookies.
There were 3 cookies in each packet.

a) How many cookies did Hui Min buy?

She bought cookies.
[2]
b) Hui Min then bought another 2 such packets of cookies

the next day.
How many cookies did Hui Min buy the next day?

She bought cookies the next day.
(2]
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15. There were 28 pupils in Primary 2Q.
Miss Lim put all the pupils into 4 equal groups.

a) How many pupils were there in each group?

There were pupils in each group.

(2]
b) There were 30 pupils in Primary 2W.

In each group, there were 3 pupils.
How many groups of 3 pupils were there?-

There were groups of 3 pupils.

(2]




16. Mary needs 35 cm of string to tie a box.

a) She wants to tie 2 such boxes.
What is the total length of string she needs?

The total length of string she needs is cm.

(2]

b) Mary has 20 cm of string.
She does not have enough string to tie a box.
How many more centimetres of string does she need?

She needs cm more string.

(2]

End of Paper

166 10
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ANSWER SHEET

SCHOOL : NANYANG
SUBIJECT : MATHEMATICS

TERM  :TOPICALTEST 2

Q1 Q2 Q3 Q4 Qs Q6 Q7 Qs
2 1 3 2 3 2 4 3
9)12 +~ 4=3
12 +3=4
10)7 cm
11)X Y
12)a)m
b}cm

13)36 —~ 4=9cm

14)a)5 x 3 = 15
b)2x3=6

15)a)28 = 4=7

b)30 =3 =10

15



16)a)35x2 =70 cm

b)35—20 =15

Order from www.elinits.com 91271082
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CATHOLIC HIGH SCHOOL
MATHEMATICS
PRIMARY TWO

AMODES : CHECKPOINT 1

NAME : DATE :
CLASS :

10

PARENT’S SIGNATURE :

Section A

Questions 1 to 4 carry 1 mark each. For each question, four options are
given. One of them is the correct answer. Make your choice 1, 2, 3 or 4
and write your choice in the bracket provided. All diagrams are not drawn

to scale. (4 marks)
1. How many g are there?
- Jx ’ 1 \g.. pd ] o .’- & L Qii Eﬁ\j
[” .'.. ] d ,‘ ]
w(e3 Rk
(1) 467
(2) 557
(3) 567
(4) 657 ( )

1 (Go on to the next page)
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in 867, the value of the digit 6 is

(1) 6
2) 60
(3) 67
(4) 600

Which one of the following numbers is an odd number?

(1 217
(2) 384
(3) 478 -
(4) 580

367 + 231 = 4

(1) 498
(2) 588
(3) 597
(4) 598

(Go on to the next page)



" Section B Do not write

inthis s
Questions 5 to 7 carry 2 marks each. Show your working clearly and P
write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. All diagrams are
not drawn to scale. (6 marks)

8. Arrange the numbers from the Smaliest to the greatest.

781, o1, 118

Ans: 5 )

smallest

6. Look at the number pattern below and complete the pattern.

830, 820, 810, 800, B , 780, 770, 760

Ans:

3 (Go on to the next page)
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7. Subtract 68 from 908.

Ans:

END OF PAPER

172
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CATHOLIC HIGH SCHOOL
MATHEMATICS
PRIMARY TWO

AMODES : CHECKPOINT 2

NAME : DATE :
CLASS : \

20

PARENT’S SIGNATURE :

Section A

Questions 1 to 4 carry 1 mark each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4).
Wirite your answer in the brackets provided. All diagrams are not drawn
to scale. (4 marks)

1 Look at the diagram below.

The tree is about ___ tall.

(M 1m

(2) 3m

(3) 3cm

(4) 30m ( )

1 (Go on to the next page)
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761 + 124 =

(1) 637
(2) 643
(3) 885
(4) 895

Study the diagram below.

Which equation below best describes the diagram above?

(1) 3x5
2) 5+3
(3) 5+3
4) 3-5

4 x

(1) 6
2) 8
(3) 9

(Go on to the next page)
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Section B

Questions 5 to 8 carry 2 marks each. Show your working clearly and
write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. All diagrams are
not drawn to scale. (8 marks)

< | Circle.8 groups of 3 balls.

&8

o 7 s f
GOHE
LEE
SO
L&
'\.\2:\ i/ @@

Do not write
in this space

6. Look at the number pattern below and complete the pattern.
927, 922, 917, . 907, 902, 897
Ans: [
3 (Go on to the next page)



Study the diagram below. Answer questions 7 and 8 based DC: ;}m write
on the scale given. in this space

D 1 2 3 4 5 6 7T 8 9 10 11 12 13 14 15

1. How long is the tube of toothpaste?
Ans: cm
8. How much longer is the toothbrush than the tube of
toothpaste?
Ans: cm

4 (Go on to the next page)
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SECTION'C Do not write

i in this space
For Questions 9 to 10, show your working clearly and write your
answers in the spaces provided. (2 x 4 marks)

9, 372 people visited a carnival on Friday.
29 fewer people visited the carnival on Saturday than on
Friday.

a) How many peo;}le visited the carnival on Saturday?

people visited the carnival on Saturday.

b) How many people visited the carnival on Friday and
Saturday altogether?

people visited the carnival on Saturday
and Friday altogether.

)

o (Go on to the next page)
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10.  Anne has 18 pencils. She has 2 times as many pencils as
Ben. )

a) How many pencils does Ben have?

Ben has pencils.

b) How many pencils do they have altogether?

They have pencils altogether.

END OF PAPER

Do not write
in this space




CATHOLIC HIGH SCHOOL
MATHEMATICS
PRIMARY TWO

AMODES : CHECKPOINT 3

NAME : DATE :
CLASS :

20

PARENT'S SIGNATURE :

Section A

Questions 1 to 3 carry 1 mark each. For each question, four options are
given. One of them is the correct answer. Make your choice 1, 2, 3 or 4
and write your choice in the bracket provided. All diagrams are not
drawn to scale. (3 marks)

What is the mass of the packet of milk?

(1)
(2)
(3)
(4)

( )

L

1 (Go on to the next page)
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2. The following figure is made up of equal parts.

What fraction of the figure is not shaded?

(1) 3
) ¢
@ 1
@ 3 S
= Which of the following fractions is the smalie;t?
() 5
@
(3 3%
(@ =5 )

2 (Go on to the next page)

180



181

- Section B Do not write

in this space
Questions 4 to 7 carry 2 marks each. Show your working clearly and

write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. All diagrams are

not drawn to scale. (8 marks)
4 8.7
1 11
Ans:-
5 Arrange the following fractions in order.

Begin with the greatest fraction.

n|-=

L
r 3 ’

=

Ans: , p
greatest

3 (Go on to the next page)




Do not write

. in this space

Two identical bars of soap are placed on the kitchen scale.

Find the mass of each bar of soap.

Ans: g

i Look at the diagram below. Box A, B, C and D are placed on

balances. '

Which box is the lightest?

Ans:
4 (Go on to the next page)
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SECTIONC Do not write
=D in this space
For Questions 8 to 10, show your working clearly and write your
answers in the spaces provided. (9 marks)
8. There are a total of 40 pupils in a class.
There are 23 boys in the class.
How many more boys than girls are there in the class?
There are more boys than girls in the class.
5 (Go on to the next page)
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9. Bag A has a mass of 8 kg. i[r)‘c; t:';:ts\grite
ace

Bag B is twice as heavy as Bag A.
What is the total mass of the two bags?

The total mass of the two bags is kg.

6 (Go on to the next page)
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10. Jane has 398 stickers. Do not write

in this space

May has 147 more stickers than Jane.

How many stickers do they have altogether?

They have stickers altogether.

END OF PAPER

'
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ANSWER KEY

LEVEL PRIMARY 2
SCHOOL CATHOLIC HIGH SCHOOL
SUBJECT MATHEMATICS
AMODES : CHECKPOINT 1
Q1 Q2 . Q3 Q4
3 2 1 4
sy 718, 781 . 871
6) 790
7) 840

AMODES : CHECKPOINT 2

Q2 Q3 Q4

3 1 2

5)

6)
7)
8)

9)

LEE ¢
L
KL
QL

XSS
%) %)
%) %)

LLE
QY

912
7 cm

4 cm

(@)

(b)

372 -29=343
343 people visited the carnival on Saturday.

372+ 343 =715
715 people visited the carnival on Saturday and Friday altogether

1

16



" 10) a) 18+2=9
Ben has 9 pencils.

b) 18 +9=27
They have 27 pencils altogether.

Order from www.elinits.com 91271082
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CLASS TEST 3

Section A
Ql Q2 Q3 Q4 Q5
3 2 4 1 3
Section B
6) 12 em
7 $122.65
8) 3 kg

9) bangle and ring

10)
1) $91
Section C

12) 160-65=95
95 + 160 =255
Their total height is 255 cm.

13)  189-57=132
132 + 48 =180
Miss Devi bought 180 apples at first.

Order from www.elinits.com 91271082
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17

Founded 1947

AP
NAN CHIAU PRIMARY SCHOOL
MATHEMATICS
PRIMARY 2

LEARNING REVIEW
TERM 1 2019

Name: ( )

Class: Pr2 Duration: 40 minutes

Date: 12™ March 2019 Parent’s Signature:

Instructions to Students:
1. Do NOT open this booklet until you are told to do so.

2. Follow all instructions carefully.
3. Answer all questions.

*This paper consists of 6 pages altogether.
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Section A
Questions 1 to 12 carry 2 marks each. For each question, show your

working and write the correct answer in the box provided. (24 marks)
1. How many [_] are there?
]
[]
L]
[]
2. In 926, the digit is in the hundreds place.
= | Write three hundred and eight in numerals.

NCPS_P2_MA_LR_Term1_2019
193



4. Arrange the numbers from the greatest to the smallest.

714 | 147 |, 174 | 417
greatest ’ | ’
5. Find 428 — 307.
- 3
6. 725+ 9=
. Add 28 and 694.
2

NCPS_P2_MA_LR_Term1_2019
194



8. Subtract 23 from 600.

23 What is the missing number in the box?
9 1 ?
- 3 4 3
5 B8 8

10.  Lisa thinks of a 3-digit odd number.
The digit 4 is in the hundreds place.
The value of the digit 1 is 10.
The digit in the ones place is more than 5 but less than 8.

What is the number?

NCPS_P2_MA_LR_Term1_2019
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11.  James had 8 stamps at first.
His brother gave him 4 stamps.
His mother bought him another 5 stamps.
How many stamps did James have altogether?

12.  Sally and Don have 200 seashells. Sally has 80 seashells.

Which of the following statement(s) is/are correct?
Tick (v') the box(es) that is/ are correct.

Don has 280 seashells.

Don has 120 seashells.

Sally has more seashells than Don.

Sally has fewer seashells than Don.

NCPS_P2_MA_LR_Term1_2019
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Section B

Questions 13 to 15 carry 2 marks each. Work out the word problems
carefully. Show your working and equations clearly in the spaces provided.

(6 marks)

13.  James has 530 stickers. William has 160 stickers.
How many stickers do they have altogether?

They have stickers altogether.

14.  Yassin bakes 277 cookies. Kim bakes 430 cookies.
How many more cookies does Kim bake than Yassin?

Kimbakes______ more cookies than Yassin.

NCPS_P2_MA_LR_Term1_2019



15. A florist had 503 stalks of roses.
After selling some stalks of roses, she had 95 stalks of roses left.
How many stalks of roses did she sell?

She sold stalks of roses.

- End of paper -

NCPS_P2_MA _LR_Term1_2019
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SCHOOL : NAN CHIAU PRIMARY SCHOOL
LEVEL :  PRIMARY 2

SUBJECT : MATH

TERM 1 2019 Term 1

1) 200 + 4 = 204

2) 8

3) 308

4) 714 , 417 , 174 , 147

5) 121

6) 734

7) 722

8) 577

g) 2

10) 417

11) 8+4+5=17

12) Don has 120 seashells. / Sally has fewer seashells than
Don. '

13) 530 + 160 = 690

14) 430 + 277 =153

15) 503 — 95 = 408.

Order from www.elinits.com 91271082
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18

Nan Chiau Primary School
Primary 2 Mathematics
Learning Review Term 3 2019

Name: ( ) Date: 9 Sept 2019

Class: P2 Duration: 40 minutes

Parent’s signature:

Section A
For each question, show your working and write the correct answer in the
box provided.

1. Look at the equation below.
Fill in the missing number.

592 — 347 =
Z; Look at the picture below.
7 8 9 10 11 12 13 14 15

| rTISLxTIlllllrhlyl(lM

cm
0 1 2 3
s

The crayon is cm long.

NCPS_P2_MA_LR_Term3 2019



3. Look at the pictures below.

grapes \ bananas

Which fruit is heavier? Circle the correct answer.

The bunchof ( bananas / grapes ) is heavier.

4. Circle two notes and four coins to maké $8.70.

Tar =

2

DOLLARS.

T
o 7

NCPS_P2_MA_LR Term3_ 2019
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0 What fraction of the figure is shaded?

i

of the figure is shaded.

6. Arrange the following fractions in order.
Begin with the smallest fraction.

1 1 L
7 3 5
smallest , greatest
L. Look at the equation below.

Fill in the missing number.

4x5=2x

NCPS_P2_MA_LR_Term3_2019



8. Write a division equation for the picture below.

9. Tick ( ¥ ) the set that has a lesser amount of money.

SetB

NCPS_P2_MA_LR_Term3_2019
204



10.  Junhao and Hafiz have the following number cards.

2 | W)

Junhao Hafiz

Junhao uses his cards to form the greatest 3-digit number.
Hafiz uses his cards to form the smallest 3-digit number.
Add the two numbers.

NCPS_P2_MA_LR_Term3_2019
205
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Section B

Work out the word problems carefully. Show your working and equations clearly
in the spaces provided.

1% Mdm Rani poured all the water from the jug into the 2 cups as shown.
How much water was there in the jug at first?

lvls

325 mi 280 ml

There was of water in the jug at first.

12, Sarah bought 4 packets of nuts. Each packet of nuts costs $3.
How much did she pay in all?

She paid in all.

NCPS_P2_MA_LR_Term3_2019



13 Nora baked 200 muffins. She sold 125 muffins.
a) How many muffins did she have left?

She had muffins left.

b) Then, she baked another 80 muffins. How many muffins did she
have in the end?

She had muffins in the end.

NCPS_P2_MA_LR_Term3_2019
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14. There are some children at a sports meet. 176 of them are boys.
There are 50 fewer girls than boys.

a) How many girls are there?

There are girls.

b) How many students are there altogether?

There are students altogether.

- End of paper -

8
NCPS_P2_MA_LR_Term3_2019
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SCHOOL : NAN CHIAU PRIMARY SCHOOL

LEVEL :  PRIMARY 2
SUBJECT : MATH
TERM : 2019 Term 3

1) 245

2) 11

3) bananas
4)$5,%$2,%$1,50¢,10¢,10¢

7) 10
8)15+3=5
9) Set B
10) 652 + 145 =797
11) 325 ml + 280 ml = 605 ml|
12) 4x3=12
13) a) 200 - 125=75
b) 75 + 80 = 155
14) a) 176 — 50 =126
b) 176 + 126 = 302

Order from www.elinits.com 91271082
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19 Nan Chiau Primary School
Primary 2 Mathematics
Learning Review Term 4 2019

Name: ( ) Date:

Class: P2 Duration: 40 minutes

Parent’s signature:

Section A
For each question, show your working and write the correct answer in the

box provided.

1. What fraction of the figure is shaded?

7 %

2. What is the time shown on the clock below?

NCPS_P2_MA LR Term4_2019
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3. The picture graph shows the number of people who bought
different flavours of ice cream from a shop.

Number of People Who Bought Ice Cream

Vanilla

Strawberry

Mint

Chocolate

Which is the most popular flavour of ice cream?

4. What is the missing fraction in the box?

5
and 71_ make 1 whole.

NCPS_P2_MA_LR Term4_2019
212
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5. One afternoon, Jason played soccer with his friends
from 3.00 p.m. to 3.30 p.m. How long did he play soccer?

min

6. Tommy started jogging in the park at 9.00 a.m.
He jogged for 45 minutes.
What time did he finish jogging?

NCPS_P2_MA_LR_Term4_ 2019
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The picture graph shows the number of tokens five children earned
in their trip to a fun fair.
Use the picture graph below to answer Questions 7 and 8.

Tokens Earned in a Fun Fair

OO0
OO0

5, 1, A,

Yu Xuan Lucas Aisyah Cindy Ritesh
Each %:} stands for 5 tokens.
1 How many more tokens did Cindy earn than Yu Xuan?
8. How many tokens did the five children earn altogether?
4

NCPS_P2_MA_LR_Term4_2019



9. Alice, Chloe and Ron each had a chocolate bar of the same size.
Each chocolate bar was divided into eight equal parts.

2
Alice ate § of her chocolate bar.
5
Chloe ate :3- of her chocolate bar.

7
Ron ate 5 of his chocolate bar.

Tick (v) the statement that is true.

Alice ate the most.

Chloe ate more than Ron.

Ron ate more than Alice.

10.  Sarah had 36 stickers in her collection.
She gave 4 stickers to each of her friends.
After giving her stickers away, she had no stickers left.
How many friends did Sarah give her stickers to?

NCPS_P2_MA_LR_Term4_2019
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Section B

Work out the word problems carefully. Show your working and equations
clearly in the spaces provided. Include standard units in your final word
statements (if required).

11.  Mr Sim bought 8 packets of oranges.
There were 4 oranges in each packet.
How many oranges did Mr Sim buy altogether?

Mr Sim bought -l oranges altogether.

12. Amirah baked 40 cookies.
The cookies were shared equally among 4 friends.
How many cookies did each of them receive?

Each of them received cookies.

NCPS_P2_MA LR Term4_2019



13.  Diana had $350.
She spent $79 on a pair of shoes and $32 on a book.
How much money did Diana have in the end?

Diana had in the end.

NCPS_P2_MA_LR_Term4_2019
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14.  Zaki had 780 g of sugar. Amrita had some sugar.
After Zaki used 250 g of sugar to bake some cupcakes,
he had 90 g of sugar less than Amrita.

(a) How much sugar did Zaki have left after baking some
cupcakes?

Zaki had of sugar left.

(b) How much sugar did Amrita have?

Amrita had of sugar.

- End of paper -

8
NCPS_P2_MA_LR_Term4_2019
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SCHOOL NAN CHIAU PRIMARY SCHOOL
LEVEL PRIMARY 2
SUBJECT MATH
TERM 2019 Term 4
3
1) g
2) 8.30
3) Chocolate
_6_
4) 11
5) 30 min
6) 9.45 am
7) 15 more
8) 50
9) Ron ate more than Alice.
10) 36+4=9
11) 8 x4=36
12) 40+4=10
13) $350 - $79 = $271
$271 - $32 = $239
14) a) 780g — 250g = 530g

Order from www.elinits.com 91271082

b) 530g + 90g = 620g

Pg1l
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Maha Bodhi School

%%% 2019 Topical Review 1
-©»

Primary 2 Mathematics

Name: ( )

Class: Primary 2

Duration: 30 minutes Date:

Section A: Multiple Choice Questions

Fill in the correct option 1, 2, 3 or 4 in the bracket provided.

1. In the number 857, what is the value of the digit 57

(1) 5

) 10

(3) 50

(4) 57 (

2z Nine hundred and seven is the same as

(1) 97
(2) 917
(3) 907

(4) 970

221



3. 178+278=

(1) 346
(2) 356
(3) 446
(4) 456

4. Subtract 146 from 618.
(1) 462
(2) 472

(3) 552
(4) 532

222



Section B: Short Answer Questions

Write your answers in the spaces provided.

5. How many tens are there in 3107

Answer:

6. Circle the odd number greater than 200.

156 181 294 345

7. Andyisin a queue.
There is one pupil in front of him and two pupils behind him.

What is his position in the queue? Circle the correct answer.

e/ N

Andyis (1%, 2™ 39 4")in the queue.

223



8.  Arrange the numbers in order.

Begin with the greatest.

ey

greatest

9.  Aloysius has 519 stamps.
Ben has 122 stamps.
How many stamps do they have altogether?

Fill in the missing numbers in the model.

224
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10. Donald has 576 cards.

1ls

He gives away 135 cards.
How many cards does he have left?

Fill in the missing numbers in the model.

Jacob collected 353 marbles.

Kayden collected 47 fewer marbles than Jacob.

How many marbles did Kayden collect?

Fill in the missing numbers in the model.

Jacob

Kayden

N s e
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12. There is a number that does not belong in the number pattern.

Circle the number.

DD D DD

13. Fill in the missing digit.

< & ’
== 2 S
1 3 T

Section C: Long Answer Questions

Show your number equations clearly and complete the answer statements.

14. Wei Ming has 178 stickers.
He buys another 84 stickers.

How many stickers does Wei Ming have altogether?

Wei Ming has stickers altogether.
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15,

Alicia baked 143 cookies.
She baked 360 fewer cookies than Maria.

How many cookies did Maria bake?

Maria baked cookies.

------- The End ——-

Remember to check your work!
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SCHOOL

LEVEL :
SUBJECT :
TERM

MAHA BODHI PRIMARY SCHOOL

PRIMARY 2
MATH
2019 CA1

SECTION A
13

2)3

3)4

4)2
SECTION B
5)31

6
7)2nd

8)

75

63

57

36

9)

519

122

641

Pg1l

20



10) 441 135

576

11) 353

Jacob

Kayden fewer

306 47

12) 23 >

13)342-2| 0 (5=137

14)178 + 84 = 262
15)143 + 360 = 503

Order from www.elinits.com 91271082

Pg2
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Maha Bodhi School

2
2019 Topical Review 2

o> P2 Mathematics
Name: (
Class: Primary 2 Date:
Duration: 30 minutes Parent’s Signature:

Section A: Multiple Choice Questions

Fill in the correct option 1, 2, 3 or 4 in the brackets provided.

1.‘16@2=8

What is missing in the equation?

(1)
(2) -
(3)
(4) =
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2.

Add 285 and 136.
(1) 421
(2) 411
(3) 321

(4) 311

We can put 18 balls equally into

GO
HOHOOOHHBOO

(1) 2 groups of 6
(2) 2 groups of 8
(3) 3 groups of 6
(4) 3 groups of 8



4.  Apples were sold at 7 for $3.
Mrs Tan bought some apples for $6.

How many apples did she buy?

(2) 14
(3) 18
(4) 21

5.  Kumar and his 8 friends bought 3 pencils each.

How many pencils did they buy altogether?

(1) 27
(2) 24
(3) 12

4) 11

233



Section B: Short Answer Questions

Write your answers in the spaces provided.

6. 800-367=

Answer:

Answer:

8.  Divide 36 books into 4 equal groups.

How many books are there in each group?

vve e e
Yve v e

e e ee
Yveveee
e v e
Y v ew

Answer: _ books

234
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9.  Fillin the missing numbers in the boxes to complete the number

pattern.

4, 8, 12, , 20, 24,

10. Circle the erasers to show equal groups of 5.

PIPIIIFIPIY S
PIPIIPIIPIY P

11. Rachel bought 7 boxes of cookies.

There were 10 cookies in each box.

How many cookies were there altogether?

Answer: _cookies

12. Ben collects 456 more seashells than Lina.
Raj collects 273 fewer seashells than Lina.

How many more seashells does Ben collect than Raj?

Answer: more seashells

5
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Section C: Long Answer Questions

Show your number equations clearly and complete the answer statements.

13.  Anna has 40 sweets. She gives the sweets equally to 4 friends.

How many sweets does each friend receive?

Each friend receives sweets.

14. There are 6 children in a group.
Mdm Siti wants to give 5 cards to each child in the group.

How many cards does she need?

She needs cards.




15. Joyce made 438 paper stars on Saturday.
She made 124 more paper stars on Saturday than on Sunday.

How many paper stars did she make on Sunday?

She made paper stars on Sunday.

SN, | Y ", (—

Remember to check your work!

237
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SCHOOL : MAHA BODHI PRIMARY SCHOOL

LEVEL : PRIMARY 2
SUBJECT : MATH
TERM : 2019 SA1

SECTION A

14

2)1

3)3

4)2

5)1

SECTION B

6)800 - 367 = 433
7)5x7 =35

8)36 =+ 4 =9 books

9)4,8,12, |16 20,24, | 28

10)

o ————

@@@@@@@@@@
9999999999/

Pg1l

239



11)7x10 =70
12)456 + 273 =729
729 + 456 = 1185
729 - 273 = 456
1185 - 456 =729
13)40 ~ 4=10
14)6x 5 =30

15)438 - 124 = 314

Order from www.elinits.com 91271082

Pg2

240
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Name: . )

Class: Primary 2

Duration: 45 minutes

Date: Parent’s Signature:

Section A: Multiple Choice Questions
Fill in the correct option (1, 2, 3 or 4) in the brackets provided.

1. Which figure below has curves only and does not have straight lines?

S
A B C D

(1) A
(2) B
@) C
(4 D ( )
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2.  The figure below is made up of a

a

(1)
(2)
3)
(4)

circle, triangle
circle, square
semi-circle, triangle

semi-circle, square

and

Count the amount of money shown by the coins below.

The total amount of money is

(1)
(2)
(3)
(4)

$1.90
$1.95
$2.00
$2.05
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4.

Which of the objects have flat surfaces?

(1) AandC
(2) AandD
(3) BandC
(4) BandD ( )

What is the total cost of the skate scooter and the bicycle? .

Skate scooter Bicycle
$84 $193
(1) $277
(2) $177
3 1

(4) $109 ( )



6. What is the missing figure in the pattern below?

(1)

(2)

(3)

4)

244



Section B: Short-Answer Questions
Write your answers in the spaces provided.

7.  Copy the figure exactly onto the dot grid on the right.

® ® ® L L ®
® L ] L J ® ® L ] [ ]
e L J ® [ J L L ®
® ® ® e ® L ] L ]

8. Keming used a cuboid and a cone to make a 3D figure.

Circle the correct figure that he had made.

245



9. Write the amount in dollars.

605¢ =%

10. Circle the figure that is made up of 1 curve and 3 straight lines.

CC N D

-11. A burger cost $6.
Andy bought 4 similar burgers.
How much did he pay altogether?

Answer: $

246



12. Ali wants to buy a toy that costs $18.
He saves $2 every day, starting on 12 August.
What is the earliest date that he will be able to buy the toy?

Sun- Mon Tue Wed Thu Fri Sat
1 2 3

4 5 6 7 8 9 10

11 12 13 14 15 16 17

18 19 20 21 22 23 24
25 26 27 28 28 30 31

Answer: __ August

247
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Section C: Word Problem
Show your number equations clearly and complete the answer statements.

13.  Mrs Tan paid $32 for a few bottles of cooking oil.
Each bottle costs $4.

How many bottles of cooking oil did she buy?

She bought bottles of cooking oil.

14. Siti saved 50¢ on Monday.
She saved 30¢ more on Tuesday.

(a) How much did she save on Tuesday?

She saved ¢ on Tuesday.

(b) How much did she save altogether? Give your answer in dollars.

She saved $ altogether.




15. Amy had $70.
She bought a doll for $27.
Her mother then gave her another $16.

How much money did Amy have in the end?

Amy had $ _ in the end.

Remember to check your work!

249
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SCHOOL

LEVEL -
SUBJECT :
TERM

MAHA BODHI PRIMARY SCHOOL

PRIMARY 2
MATH
2019 CA2

SECTION A
1)4
2)3
3)3
4)2
5)1
6)2
SECTION B

7)

251

Pg1l

22



8)

9)605 ¢ = $ 6.05

10)

A

11)4 x $6 = $24

12)20 August
13)32+4=8
14a)50¢ + 30¢ = 80¢
b)50¢ + 30¢ = $0.80
15)$70 - $27 = $43
$43 + $16 = $59

Order from www.elinits.com 91271082

Pg 2
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Maha Bodhi School
2019 Topical Review 4
P2 Mathematics

Name: (

Class: Primary 2

Duration: 45 minutes

Date: Parent’s signature:

Section A: Multiple Choice Questions

Fill in the correct option 1, 2, 3 or 4 in the brackets provided.

1. What fraction of the circle is shaded?

(1)

(2)

(3)

(4)

ol ojw OlWw N

253



2. The picture graph below shows the number of points awarded to

3 groups of pupils.

Number of Points

Group A * * *
Group B *
A & 6.6 & ¢

Each * represents 4 points.

How many points does group C héve?
(1) & |

(2) 9

3 12

(4) 20 (

254



What is the time shown on the clock?
(1) 6.40 p.m.
(2) 7.40 p.m.
(3) 8.30 p.m.

(4) 8.35p.m.

4. 1- £y

O©IN
BT

What is the missing fraction in the box?

Ol ©OIN ©OlWw |-

255



5. The time nowis 11.30 a.m.

What will the time be half an hour later?

(1) 11.00 a.m.
(2) 11.00 p.m.
(3) 12.00 a.m.

(4) 12.00 p.m.

256
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Section B: Short Answer Questions

Write your answers in the spaces provided.

6. Arrange the fractions from the greatest to the smallest.
1 1 1

g * 2 - 3

greatest

7. Which one of the following figures has half of its shape shaded?

Figure A

ot s

Figure C

Figure D

Answer: Figure




foc)
~NI S
+
NN
1
~

Answer:

9. The picture graph shows the favourite sport of the pupils in Primary 2

Love.

Favourite Sport

Basketball OO0 0

Frisbee ©QOOOOLOOOOO

Badminton 1O OO OO O ©

Soccer OO OO

Each © stands for 2 pupils.

How many more pupils chose frisbee than soccer as their favourite

sport?

Answer:

258
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10. Write the correct time with a.m. or p.m.
The recess chime will sound 20 minutes after 3 o’clock.

The time will be

Answer:

1
11.  How many more stars must Nancy colour so that 5 of the stars are

coloured?

Answer:




12. The picture graph shows the number of items Eddy has.
He has the same number of coins and stickers.
He has 6 more coins than postcards.
Draw circles to show the number of coins and the number of stickers

in the graph below.

Eddy’s Collection

O
O

rocks coins stamps stickers postcards

OO00O0O0
O000O0O0

Each O stands for 3 items.

260



Section C: Word Problem

Show your number equations clearly in the space below each question and
complete the answer statements.

13. Cindy had 327 stickers.
She gave 75 stickers to her friends and 54 stickers to her sisters.

How many stickers had she left?

Cindy had stickers left.

14. Timothy has 98 marbles.
He has 27 fewer marbles than Susan.

How many marbles do they have altogether?

They have marbles altogether.

261



15. Sam, David and Roy played a game.
Sam scored 342 points.
David scored 278 points.

Roy scored 36 fewer points than Sam.

a) How many points did Sam and David score altogether?

Sam and David scored points altogether.

b) How many points did Roy score in the game?

Roy scored points in the game.

Remember to check your work!
~ End of Paper ~

10

262
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SCHOOL
LEVEL

SUBJECT :

TERM

MAHA BODHI PRIMARY SCHOOL

PRIMARY 2
MATH
2019 SA2

SECTION A
1)3
2)4
3)1
4)3
5)4

SECTION B

N =
W=
=

B

7)Figure B

6
8)>

9)20-8 =12

10)9.20 am

11)3

Pg1

23



12)

Eddy’s Collection

O
O O //
. O O O
o | & O O
- Clerl O e

Each O stands for 3 items.

13)327 - 129 = 198

14)98 + 27 =125
125 + 98 = 223

15a)342 + 278 = 620

b)342 - 36 = 306

Order from www.elinits.com 91271082

Pg 2
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Red Swastika School
Primary 2
Milestone Check 5
Mathematics

Name: ( ) Date:

Class: P2/

Part 1

20

Duration: 30 minutes

Fill in the blanks with the correct answers. (1 mark each)

1. Read each scale. Then, write the mass.

(a) pumpkin (b) turkey

(c) slice of cake

AAAAA,




2. Look at the pictures below carefully.

a) The mass of object A is g.
b) Object is-the heaviest.
c) Object is the lightest.

3. Circle the correct answer in the bracket.

The mass of the papaya is (less than / more than / as heavy as) 2 kg.

5
Y Ny

P
T T e gt AR T ._)—

% .\‘

g msPapaya
( pay

- 1 kg >
DN L] g

266



4. Study the diagrams below carefully. Arrange objects A, B and C
according to their mass. Begin with the lightest.

lightest

Part 2
Fill in the blanks with kg or g. (1 mark each)

5.

(a) plastic cup (b) bucket of sand

50 1
(c) teacher’s table (d) story book

267



Part 3
Solve the following word problems. Show all equations, workings and

final statements clearly. (2 marks each)

6. A pencil case weighs 230 g.
Itis 222 g heavier than an eraser.

(a)What is the mass of the eraser?

The mass of the eraser is g.

(b)What is the mass of 4 such erasers?

The mass of 4 such erasers is g.

268



7.  Study the following picture carefully.

Each of the durians shown in the picture above has the same
mass.

(a) What is the mass of two durians?

The mass of two durians is kg.

(b) What is the mass of one durian?

The mass of one durian is. kg.

END OF PAPER

Have you checked your work?

5
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SCHOOL : RED SWASTIKA PRIMARY SCHOOL

LEVEL :  PRIMARY 2
SUBJECT : MATH
TERM : 2019 MILESTONE CHECK (5)

1) a) 7 kg
b) 5 kg
c) 160g
2) a)100g
b)C
c)B
3) less than
4)B,C,A
5) a)50 g
b) 1 kg
c) 5 kg
d) 425 g
6) a) 230 -222=8
b) 4 x 8 = 32
7)a)6+3=9
9+1=10

b)10+2=5

Order from www.elinits.com 91271082

Pg1l
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Red Swastika School
Primary 2
Milestone Check 6 20
Mathematics
Name: ( ) Date: _
Class: P2/ Duration: 30 minutes
Part 1

1. Match the names to the correct shapes. (1 mark each)

@ e triangle
A o e square
Q o e circle
Q o e semicircle
O ® e quarter circle
o e rectangle




Part 2
Look at the figures below.
Cross out the shape that is not used to form each figure. (1 mark each)

2. D A

Tk | A

¥, 11 O | D

5. Copy the figure below to the dot grid on the right. (1 mark)

o L] & 3 o] > & 4 & 9 a >

L} S 1~ L] L= k-4

6. Copy the figure below to the square grid on the right. (1 mark)

/

274



Part 4

7. Look at the following objects.
Circle the object that matches the name of the solid. (1 mark each)
Solids Objects
(a)
Cone
candle strainer
(b)
Cube
(c)
Sphere
soccer ball milk carton
(d)
Cylinder
(e)| Cuboid
book pencil case

275




8. Look at the following solids A, B, C and D.
Count the number of flat surface(s) each solid has. Write A, B, C and D
in the table below. (1 mark each)

A c D
o

Number of flat surface(s) Solids

Only 1 flat surface

More than 1 flat surface

END OF PAPER

Have you checked your work?
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SCHOOL : RED SWASTIKA PRIMARY SCHOOL

LEVEL :  PRIMARY 2
SUBJECT : MATH
TERM : 2019 MILESTONE CHECK (6)

oooooo

6)

Pg1

277



Q7) a) strainer
b) dice
c) soccer ball
d) candle
e) book
Q8) Only 1 flat surface — B

More than 1 flat surface— A,C,D

Pg2

278
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Red Swastika School

20

Primary 2
Milestone Check 7
Mathematics
Name: ( ) Date:
Class: P2/
Part 1

Duration: 30 minutes

Look at the figures below and circle the correct answer, “True” or

“False”. (1 mark each)

s

equal parts.

This figure is divided into | True / False
equal parts.
2,
/ \ This figure is divided into | True / False
equal parts.
3.
This figure is divided into | True /False
equal parts.
4.
This figure is divided into | True / False




Part 2

For questions 5 and 6, write the correct fraction for the shaded parts
of each figure below. (1 mark each)

7. Which figure shows that % is shaded? Put a tick in the bracket.
(1 mark)

280
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Part 3
8. (a) Shade the parts to show the following fractions. (1 mark each)

N |-

D=

(b) Arrange the above fractions from part (a) in order, beginning
with the smallest. (1 mark)

L]

smallest

9. Arrange the fractions in order, beginning with the smallest.
(1 mark)

5 3
7

i
7 ’

smallest

For questions 10 and 11, circle the greater fraction. (1 mark each)

©IN

1§ "

alH
O~

3
10. B




Part 4

Fill in the blanks. (1 mark each)

% 8.8 .
11 11
13. 5 4 _
T 7
4. 3 4
4" =4
15. 3
1 = "8
6. 1,2 4 _
10 10 10
17. 14
5 5
END OF PAPER

Have you checked your work?
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SCHOOL : RED SWASTIKA PRIMARY SCHOOL

LEVEL :  PRIMARY 2
SUBJECT : MATH
TERM : 2019 MILESTONE CHECK (7)

1) False
2) True
3) False
4) True

5) >
)8

&) >
)6

8)

D
N
N =
~
N w
~

ch“"\“”"‘“\um

12)

’—l
[EN

Pg1l
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13)
14)
15)
16)

17)

cnlmzl\,oolcn-{:-lr-*\lfh*

Order from www.elinits.com_'_'91 271082
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Name:

CHIJ ST NICHOLAS GIRLS' SCHOOL

PRIMARY 2
TERM 3 REVISION PAPER
MATHEMATICS

40

Class: Primary 2

Duration: 50 minutes

Parent’s Signature:

Section A (6 x 1 mark = 6 marks)

Read each question carefully and choose the correct answer.

Wirite the number of the correct answer (1, 2, 3 or 4) in the brackets provided.

1. The mass of the school bag is about

(1)
(2)
(3)
(4)

285

3g
30g
3kg
30 kg

Workin.,
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2.

What is the mass of the apple shown below?

(1) 1004
(2) 150g
(3) 250¢g
(4) 350g

What is the amount of money shown below?

(1) $1.60

(2) $1.90
(3) $160
(4) 3190

Working
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4.  Ben bought 4 cans of fruit juice.
How much did he pay altogether?

(1)
(2)
(3)
“4)

5. The eraser below has

(1
(2)
3)
4)

$8
$6
$5

AW N O

$2

fiat surfaces.

Working
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1
Which of the following shows i of the figure shaded.

Working



Qection B (24 marks)

Questions 7 to 10 carry 1 mark each.

Questions 11 to 20 carry 2 marks each.

Wirite your answers in the spaces provided.
Show all number equations and workings clearly.

7. Study the diagram below. Working
Fill in the.blank with “more” or “less”.

The pumpkin is than 4 kg.
8. Compare the prices of the 3 items below.
T\
T
Sofa Shelf Dining table
$343.60 $200.45 $334.90
The is the most expensive item.

289
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10.

11.

Simpson drew a figure below with straight lines and
curves.

The figure has straight lines and
curves. :

What fraction of the figure below is shaded?

of the figure is shaded.

Arrange the objects below in order beginning with the lightest.
Wirite the letters (X, Y, Z) in the correct order.

X Y Z
643 g 800 g 529¢g
Answer:

(lightest)

Working



12 Wirite the amount in dollars or cents. - Working
(@%=__ ¢

(b)5¢=9%

13.  This figure is made up of 2 semicircles and 1 rectangle.
Circle the correct figure.

(a)

(b) This figure is made up of 1 cone, 1 cylinder and 2 cuboids.
Circle the correct figure.

0 8

291
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14.

(S, F N4

15

1
9

(a) Circle the greater fraction.

1
4

(b) Circle the smaller fraction.

3
6

4
6

Match the fractions that make 1 whole.

a| =




16.  Armrange the fractions in order. Working
Begin with the greatest.
1 3 1
7 4 11
Ans: ’ 3
(greatest)
1 7(6) 1 + § =
5 B
(b) 1 - g =

293



18. The mass of each G is 10 gram. Working

y s %
| e, |

The mass of the cake is g heavy.

294
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19. 350 children were at the zoo.
105 of them were girls and the rest were boys.

(a) How many more boys than girls were there?

Answer:

(b) Complete the model.
Fill in the blanks with the correct numbers.

-Working
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20.

Sam had the following coins and notes in his wallet.

He went to the s_ubermarket and bought two items.

He had $4 left. .
Which two items did he buy?

\ 36 $10 $9

milk shampoo detergent  toothbrush

o

He bought and

Working




Section C (10 Marks)

Questions 21 and 22 carry 3 marks each.
Question 23 camies 4 marks.

Write your answers in the spaces provided.
Show all number equations and workings'clearly.

21.  Brandon had 123 marbles. After he gave away 86 marbles, he | Working

had the same number of marbles as David. How many marbles
did they have altogether in the end?

Answer:

297



22. Ziyang bought 7 handkerchiefs.
The cost of each handkerchief was the same.
He paid the cashier $50 and received a change of $29.

Working

(a) How much did the 7 handkerchiefs cost?

Answer:

(b) How much did each handkerchief cost?

Answer:

298



TERM 3 REVISION PAPER

Section A
Q1 02 03 Q4
3 2 2 1
Section B

7) - The pumpkin is less than 4 kg.
8) The sofa is the most expensive item.

9) The figure has 3 straight lines and 2 curves.
10) —

i) 2,.X,¥

299
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12) (@) $3=300¢

(b) 5¢=%0.05

13) @

(b)

14)
1
15 -
) @
®» >
Y 5
3 1 1
16) 7 ; ) ﬁ

301

(9
Nl\x =

:.lc’ nm=



302

4
17)  (a) s
7

(b) 0

18) The mass of the cake is 80 g heavy.

19) (a) 140

(b) (105) ( 315' )

@457 (3 50)

20) Heboughtshampoo and toothbrush.

Section C

21) 123 -86 = 37
37+ 37 =74

They had 74 marbles altogether in the end.

22) (a) 50-29=21
7 handkerchiefs cost $21.

b) 21+7=3
Each handkerchief cost $3.

Order from www.elinits.com 91271082

End
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CHW ST NICHOLAS GIRLS' SCHOOL

PRIMARY 2
TERM 2 REVISION PAPER 35
MATHEMATICS
Name: ( ) Duration: 45 minutes
Class: Pnmary 2 Date:
Parent’s Signature:

Section A (6 x 1 mark = 5 marks)
Read each question carefully and choose the correct <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>